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Times Tables Test 1 Times Tables Test 2

1 2 3 4 1. 2 3 4
Calculate: Calculate:
5. 8x 8= . 270 + 3 = 5. 50x9 = 1. 3?%=
6. 12x6= 12. 360 + 6 = 6. 122x2 = 12. 540 + 6 =
7. 4x6-= 13. 480 +6= 7. 7x6= 13. 300+ 6 =
8. MxT7= 14. 240 +3 = 8. MMx3= 14. 360 + 3 =
9. 6x10 = 15. 505 +10 = 9. 11?x10 = 15. 260 +10 =
10. 30 x10 = 16. 6150 + 1000 = 10. 90 x 1.5 = 16. 8700 + 1000 =
Complete these calculations Complete these calculations
17. 8 x =560 18. 400 =+ =80 17. 70 x =490 18. 550 + =110
19. 91 sweets are shared out equally between 7 children. How 19. A bus seats 90 people. There are 5 seats per row. How many
many sweets does each child get? rows are there on each bus?
20. Stickers are sold in packs of 28. Andrew buys 4 packs of 20. 80 children bring in 3 cakes each for a charity bake sale.
stickers. How many stickers has he bought altogether? How many cakes are there altogether?

1 Times Tables Tests © 2019 twinkl.com 2



Times Tables Test 3 Times Tables Test 4

1 2 3 4 1 2 3 4
Calculate: Calculate:
5. 5= 11. 130 =+ 100 = 5 122x2 = M. 29+3-=
6. 80 x90 = 12. 42+ 4 = 6. 7 x22= 12. 67+6+=
7. 7Tx3= 13. 721+ 90 = 7. 70 x1.5 = 13. 271+ 9=
8. 11?x3= 14. 364 + 40 = 8. 6.5x8= 14. 403 + 4 =
9. MO x15= 15. 4077 + 100 = 9. 5.25x100 = 15. 84956 + 1000 =
10. 606 x 10 = 16. 12459 + 1000 = 10. 75.03 x10 = 16. 305342 +100 =
Complete these calculations Complete these calculations
17. 40 x = 480 18. 960 + =12 17. 93 = 18. 6321 + =903
19. Tara finds 168 marbles in her Grandma’s cupboard and 19. Sarah, Katy, Sita and Ben each have 14 friends that
shares them equally between her and her 7 friends. How they would like to invite to their joint party. How many
many marbles do they each get? invitations will they need to send out?
20. £750 is to be shared equally between 15 members of a 20. Farmer Jim plants 480 cabbage seeds in lines of 40. How
family. How much money will each family member receive? many lines does he plant?
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Times Tables Test 5 Times Tables Test 6

1 2 3 4 1 2 3 4
Calculate: Calculate:

5. 62x10%= 11. 1800 + 32 = 5. 52x12 = 11. 3303 +3 =

6. 115 %10 = 12. 144 + 122 = 6. 462 x 100 = 12. 7212 +12 =

7 T?x2= 13. 5409 + 9 = 7. 5°x10°%= 13. 4848 + 8 =

8 3x8= 14. 4080 + 4 = 8. 42x80 = 14. 2036 + 4 =

9. 600 x15= 15. 22464 +100 = 9. 426 x 10° = 15. 56428 + 1000 =
10. 82 x10° = 16. 120 + 1000 = 10. 61.584 x 10% = 16. 3.349 + 100 =
Complete these calculations Complete these calculations

17. 12 % =720 18. 8400 =+ =1200 17. +8=1111 18. 9% x =81 000
19. 4500 pizzas are made in a restaurant every Saturday. 19. A teacher organises a school of 132 children into 4 teams

If each pizza is sold for £15, how much money will the for Sports Day. How many children are in each team?

restaurant make?

20. 600 people pay £150 each to see their favourite band play
20. Cakes are packaged into boxes of 24. How many boxes will at the local leisure centre. How much money does the leisure
be needed for 440 cakes? centre make?

5 Times Tables Tests © 2019 twinkl.com 6



Times Tables Test 7 Times Tables Test 8

23 o4 2 3 o4
Calculate: Calculate:

5. 3x12= 11. 1600 + 2 = - ot e

6. 10° x 11 = 12. 60 +120 = 6. 5723 x 4 = 12. 36 + 0.06 =

7. 500 x 300 = 13. 2004 + 2 = 7 6164 x 9 = 13. 7272 = 8 =

8 75005+ 14, 40160 =4 = 8. 314 x 90 = 14. 66066 + 11 =

9. 0.006x1000=_______ 15 10°+1000 = 9. 0.00258 x 100 = 15. 71765 + 5 =
10. 776 x10° = 16. 7542100 = 10. 1567 x 0.01 = 16. 124590 + 10 000 =

Complete these calculations

17 +7=900 18. 4 x - 324 Complete these calculations

. . .. 17. +50 = 2957 18. x 8 =40064
19. In a charity cycling event, participants cycle for 100

minutes then another participant takes over for another 19. There are 25 pencils in a box. In one day, a pencil

manufacturer fills 429 boxes. How many pencils are there
in the boxes?

100 minutes and so on. How many cyclists have cycled
after 25 000 minutes?

20. A kettle holds enough water for 6 cups of tea. If the kettle
is filled and boiled 105 times, how many cups of tea have
been made?

20. 7428 school children are organised into 6 different houses.
How many children are in each house?
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Times Tables Test 9

1 2. 3.

Calculate:
5. 552 = M. 7744 + 4 =
6. 112 x32= 12. 5436 + 6 =
7. 4851 x 40 = 13. 16984 + 8 =
8. 1762 x9 = 14, 4844 + 4 =
9. 0.04068 x 100 = 15. 11250 + 10° =

10. 87.05x10° =

16. 361325 + 52 =

Complete these calculations

17. 3142 + = 448r6 18. x 7 =5439

19. A cafe takes £5481 in sales in one day. If 609 customers
were served, how much did each customer spend

on average?

20. In my dictionary, there are 27 768 words spread over 1068

pages. How many words are on each page?

Times Tables Tests

1. 3.
Calculate:
5. 43 x50 = 1.
6. 5°x3= 12.
7. 525x9 = 13.
8. 12.5x75= 14.
9. 110 x 10.5 = 15.
10. 76 x 150 = 16.

Times Tables Test 10

Complete these calculations

17.

19.

20.

+3=2213 18.

9999 + 99 =

1875 + 6 =

3751+ 3 =

12439 + 5 =

5420 + 10000 =
40240 + 1000 =

6363 =+ =909

Sam runs up and down a 400m track 27 times. How many
metres does he run in total?

A phone company gives its customers 7200 free minutes

to spread over 60 days. How many minutes per day do
customers get for free?
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Times Tables Test 11

1 2. 3
Calculate:

5. 4268 x 0.5 = 1.

6. 7200 x 0.25 = 12.

7. 8800 x0.75 = 13.

8. 0.3 x3600 = 14,

9. 120 x 140 = 15.
10. 200 x 0.0003 = 16.

Complete these calculations

17, £12=649 18,

360 + 9 =

2466 + 6 =

13 500 + 30 =
28784 + 4 =

11700 + 1.5 =

1239 +10.5 =

6560 =+ = 1312

19. If Jack, Henry, Sophie and Alice make 12 cakes altogether

and sell them for £3.75 each, how much money will they

make altogether?

20. On average, children in a year six class can type 65 words

per minute. How long have the children been typing for if

they each type 5655 words?
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1. 2. 3
Calculate:

5. 0.5x9881 = 11.
6. 11> x 10% = 12.
7. 93= 13.
8. 745 x 21 = 14,
9. 44005 x 20 = 15.
10. 7811 x 15 = 16.

Times Tables Test 12

Complete these calculations

17.

x 45 =90045 18.

4,
818 181 + 9% =
1250000 + 5 =
25560 + 4 =

5456 + 23 =

12.68 + 103 =

50° =

48 + = 1200

19. Before a motorbike race, all cyclists fill up their tanks with
petrol. Tanks hold 8.5 litres of fuel. How much fuel is used if

20.

56 cyclists fill up their tanks?

£11 975 worth of goods was stolen from Greendale'’s

Jewellers. Thieves stole 25 of the same watch. How much

was each watch worth?
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